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(A) Mna33C/ (B) Zn 5% Cu
(C) Casd®K (D) NoZP
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7 (A) QeRReQe* EReBned
Radial hbia (B)  woQzouny Eae3nish
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BIOLOGY

The deficiency of which of these

1.  In the below diagram, identify the part 4.
which  connects  the  peripheral elements interrupts photolysis of water
microtubules to the central sheath. \ :
during photosynthesis ?
(A) MnandC/
(B) Znand Cu
(C) Caand K
Interdoublet
bridge (D) NandP
~ oy 5. InC, plants, C, cycle takes place in
Radial microtuble
spoke (A) Mesophyll cells
(A) Plasma membrane (B) Bulliform cells
(B) Interdoublet bndgF (@) Compentowcelis
(C) Central microtubule e et
(D) Radial spoke g i e
2.  The element whose percentage weight 6.  During Citric Acid cycle, the various
is highest in both earth’s crust and organic acid undergo decarboxylation.
human body is : Which of the following organic acids
(A) Hydrogen of the above cycle have 4C, 5C and 6C
(B) Carbon respectively ?
(C) Oxygen (A) Oxaloacetic acid, Citric acid and
(D) Calcium Succinic acid
: (B) Succinic abid, a-Ketoglutaric
3. Identify the event in n.leiosis mediated acidand citric doid:
by the enzyme recombinase.
(A) Synaptic pairing (C) Pyruvic acid, Malic acid and
B) Termithlization - a-Ketoglutaric acid.
(C) Crossing Over (D) Pyruvic acid, oa-Ketogluetaric
(D) Interkinesis acid and Cirtic acid
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RYMTY Wo,8 BoFeRs Tord LVATL 9. =l slJ]evin AT dedod
8,007t FOWORATWOF B3 FINT BeINTIY weoEsnYs), | wi) = wdeensmod
Tonedx, BOoIRT eﬁoﬁ%o:baigl 04, aﬁcSaﬁpe?_@aﬁoe! -1l oQTOI
. RuBisCO s&sh CO, mudond 0,8 e Jegmometh I @neondeodnt Iwodr
T AT SRe0WIT. TN JOOIRT LUSTT, S0k, TRa.
1,008 SRRFe C, 3V, womordes's Teg-1 Te3-11
BRFCRERITIVE, SBoI0IT. (1) IuRees (p) 6-8%
L. owext 8Re3nvd SERmo's o 7% 2) SoFpeFer  (q) 60-65%
1t eaommr D cdogrtRvEs. 3) SedeFer (1) 05-1%
[V. T003008  CVATONTE, SREITY) (4) WVeApeper (s) 2-3%
RORIBT BeSoD ToMne, T8, (5) woipeAdRRet (1) 20-25%
(A) TeFII NIV %0, | R . pfelovspia] tsod%od)agt ot :
(B) Sewd 101130, 1V 3. (A) 8 Eq% (2) - (1), 3) - (5), (B - (1),
(C) TeF1 ORI %0, 11 35y . (B) (l)-(]r)). (2)-(s), 3) - 1, (4 - (@),
o BT S (©) Ezi((fé @)-(0,0)- @, @) -©),
B3] OQB werormyoprvRy el (D) 8;&1)) @-©.3)- @)@ - @),
oOon LYY amﬁﬁmoaﬁ BRodX 10. SHIVI  DEI RS AT,
TR ERHE  sohivy, XooRd TTREFT B, WY AT 2
EReBRODTY Bk TRA. (A) Sotyzowd
gl o L (B) tahmowo
(1) Soednegets (p) IJae’ ©) g esed
5o (D) STRRIT SGrtee
(2) wEOROPNW (q) woriteSex 5
(3) Rep30% (1) HoInOT 1. ) ool ¢ons  @uongos)
(d) PROBND (5) LT TroLmen, $FoNY LoD EreTEnY
T S RN £ WSedn, S WYSednt St HTO govs
(A) (1)-(p)° (2) -q(q) (3)-(r), (4)-(s) I S i
B) (1)-(9.2)-0).3)-(@.@)-0) D St
© M-02)-@.3)-@).@)-(s) (A) Dooddeeda® (B) oXn s
D) (1-(9)(2)-(s),(3)-(),4)- () (C) Wpidees (D) wodn,edn
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Consider the following statements 9. Match the different types of
regarding . photosynthesis and Leucocytes (Column-I) with their
respiration in plants and select the percentage of occurrence (Column-II)
correct option. in a healthy adult human and choose
I. RuBisCO has high affinity to the correct answer.
oxygen in low CO, concentration. Column-I Column-II
II. The Calvin pathway occurs in the (1) Neutrophils (p) 6-8%
chloroplast of bundle sheath cells of (2) Lymphocytes (q) 60 —65%
C4 plants.. (3) Monocytes () 05-1%
III. Yeast poison themselves when the (4) Basophils (5) 2-3%
concentration of alcohol reaches 7%. : ] 5
IV. Oxygen is.a final hydrogen acceptor (3)7 < Eosinophils (f) 20=23%
during aerobic respiration. Choose the correct option :
(A) Statements II & IV are correct, A) (DH-(@@),(Q2)-@),(3)- (), (4) (1),
I is wrong. (5)-(p)
(B) Statements I & II are correct 1AY (B) (1)-(), (2)-(s), (3)- (1), (4 -(q),
is wrong. (5)- ()
(C) _Statements I & III are correct, 11 (C) ()-(q).@2)- (1), (3)- @), @) -(s),
i g, (5)- ()
(D) itt:?;r:lents I & IV are correct, III D) (- Q) -®, 3)- @), @) - @),
» (5)-(s)

8. Match the digestive glands given in :
Column-1  with their respective 10. In which part of the human brain
enzymes given in Column-II and corpora quadrigemina is located ?
choose the correct combination from (A) Forebrain
the given options. (B) Hindbrain

Column-I Column-11 (C) Midbrain
(1) Pancreas (p) Pepsin -
(2) Gastric glands (q) Enterokinase (D). - Cerebral hemisphere
(3) Small (r) Ptyalin
intestine 11. A girl after attaining sexual maturity
(4) Salivary (s) Trypsin shows development of growing ovarian
glands follicles, development of mammary
Choose the correct option : glands and high pitch of voice. These
A) (D-@),2)-(@),3)-(), 4 -(s) changes are attributed to
B) (D)-(s)(2)-(p)3)-(,4)-(@) hormones.
© (M-, 2)- (q)a 3)- (P), (4)-(s) (A) Melatonin (B) Estrogens
(D) 1-@,@-6).3)-0,@-@ (C) Progesterone (D) Androgens
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Fewd OomeRdRE, [ear3osony Fos,
17 &NTO3a. 2rT T, FO08 1R, %0
Breggeon, @ Sear I0Bon¢ Boad, X, ?

(A) 34 (B) 68
(C€) 17. (D) 51

3 $UNT w3, TYT FoodB BoTR eI
M’ & RoTH8% :

(A) soorid (B) xeggo
(C) edhweord (D) mwageor

PR ESS IFcdowen, ©8 03

UPE IToNen a;‘oar{demnvaigt

odolex plovelaniover of Toondesaonsd

TPodeFrivonode LLPOTLL 0D

(A) Ioons  weRpRdodd  FERCT
TRBOLITIT.

(B) oonn Reompdory SOYRTE

U ReoQThIs.
(C) Toona ReoTRSeo seariern B,
T ECReTBTNTLIT.

(D) ooninisb wfons Fozosneddod
ouIneonss.

15.

16.

IL.

II1.

IV.

1%,

ROOOQT WRBROLTY, MOTOSA.

(A) &0 3eTERETTD — VFROEIZ

(B) oxor} - Qrioese

(C) RTooDT weIERBRT — QIS

(D) =,5008 36, Ho%0 Beeddeos, —
3 rioess

Toon — B 030° SB[t FowoAT
PV 'emgmmndo;soi 8 YN
SoRNven MOTdSR.
4R 9 Weatndn nomd Sormeony waEbn
Bepsen, T Soedd Toondersony 8T
ToonSeFoI0 AR NSTa ol o
T, FedROPYTO
ToNSPFON Weesednt
BoBsERY ToOR JYFD T3
(A) IVoIll->NI->1-V
B) I->IVoVoIll-l

(C) N->IVaII->V-o1
D) VoIlVoIlllsll-l

Fo00-1 TQ TRt Sonvd) wo-11
OQs wand womonnd X &cdecdrt
TRODA.

Fowo-I sooo-11

(i) SRTL Soned: (a) BreQ TNV Wemr BT
(i) »TBSe Sorisd (b) ISoD Foedd BT
(iii) 2TIe oL (c) Fy@WD

(iv) wode doned  (d) §Eow0 a3 wiokbnish -

(i) (i) @i) ()
(A) (¢ (d (a (b)
B) ® (© @ (@
€ @ ) () (
D) () @ () (@
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12.

13.

14.

In apple, the chromosome number of
gametes is 17. What is the
chromosome number in its Primary
Endosperm Nucleus (PEN) ?
(A) 34 (B) 68

)17 (D) 51

Identify the vegetative propagule ‘M’
in the following diagram :

(A) Bulbil
(C) Rhizome

(B) Offset
(D) Runner

During an excavation of soil, Pollen
fossils were retrieved from deepest
layer of soil. The pollen grains
remained as fossils because

(A) The intine of pollen grains is-

made up of pectin.
(B) Exine has spiny Ornamentation.

(C) Thga exine of pollen grains is
highly resistant to enzyme action.

(D) Pollen grains are
reproductive structures.

asexual

1%

16.

17.

Identify the mismatch.

(A) Antipodals — Haploid

(B) Zygote — Diploid

(C) Synergids — Diploid

(D) Primary Endosperm Nucleus —
Triploid

Identify the correct order of events in
pollen-pistil  interaction from the
options given below :

I.  Release of male gametes into the

embryo sac.

II. Deposition of pollen grains on
stigma.

III. Entry of pollen tube into embryo
sac.

IV. Development of pollen tube

V. Entry of pollen tube into  the
Ovule.

(A) IVoIll->I->I1->V

B) N->IVoaV-oIl-1

C) M>IVoIlll->V-ol

(D) VoIVl ll-1

Match the months listed in Column-I
with the organogenesis of foetus in
Column-II.

Column-I Column-I1
(i) Firstmonth (a) Separation of
eye lids

(ii) Second (b) Hairs on head
month

(i11)) Fifth month (c) Heart

(iv) Sixmonth (d) Limbs & digits
(1) (i) (i) (iv)

A) © (@ (@@ (b
B) (®) (¢ (@ ()
© @ () (© (@
D) (© (@ () (a
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18. womordand IPECL T RRTY,

20. B FINIINYY, IR MyrRCeTERY
(Ampulla) 3@cdootnmen, ©SowEET SROTES GoNg 3,050000 TOTRFTTN
2900 WO JPOTNIBT. sSds 72 rodndayr  wIREY
(A) QVITROT AI'FPoRWOLT MeIF oUmodR) bafel povel.plelewsrty]
(B) ©om3BoROon somhey, @YD ?
(€) @XRNOT gRF3oDd (A)  Somn e - o8 2e. Joodeens
(D) ﬂa‘aﬁoavaOw [T (B) @Xpeatne’ - dwn $3f Jocdnend
19. 33 89t ZpeoATHR ©omEoe BIIT S (C) oI - witineas Jocdrewd
NORTRORG, p, g, T TONR § DOWD (D) puiRp s’ - o%p s Foodnewd
;@:%:?e?s;;? b e 21. GIFT o3¢ Rowopamod Zoodnd
et e BegBoDdI wod) Ina.
(A) Dk AT TET LoD
iesy  odorp  oudt Ry
InaETED RETDOCD LomoEsdml
I8t SrF o3,
(B) v DHACVOT  OROTYSI
TED AETOCL  somordTRd
(A) p — @omrD, q — BOWIR wIY SR SroFCWIRNZT.,
- 4REBA%, 1 — WP Somord (C) & IO  CROII,
8¢3, s — Decds womorad doed TR ALE00D  MigRrBoDE
(B) p - OfctE womorn #0t3, q - SR ORI,
TS womor 8RB, r - (D) DL DOICNOT SOBENVRY,
0T, § - LIOTHED 2B BAEBTITD TED  AHO0H  MeRFBony
(C) p- @omara, q - DIeCDE LoD BV COIRERTORES.
o 22. B SUNT CINT LBLNVRY OB I
S - SO WE FREBNW e = b
§D) 0 - taookess 2kt SassNy .q - WS ngm T cdnennvd syl 230 ?
e ase o (A) ®oBT 2T (B) ocood wEed
HSSETIEN R ) (C) wextunt (D) ogod wms
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18. When the fallopian tube is blocked at
ampullary region, the ovum fails to
move from

(A)
(B)
©)
(D)

Isthmus to infundibulum
Ovary to ampulla
Isthmus to Uterus

Infundibulum to Isthmus

19. Identify the cells represented as p, q, r
and s in the schematic representation of
Oogenesis, shown below and choose
the correct option.

(A)

(B)

(©)

p - Ovum, q - Oogonia, r -
Primary oocyte, s - Secondary
Oocyte :

p - Secondary Oocyte, q -
Primary Oocyte, r - Ovum, s -

‘Oogonia

p - Ovum, q - Secondary Oocyte,
r - Primary Oocyte, s - Ovum

p - Oogonia, q - Primary Oocyte,

20.

21.

22.

Which of the following contraceptives

could be

effective in avoiding

pregnancy if used within 72 hours after
casual unprotected intercourse ?

(A)
(B)
©)

(D)

Androgen - FSH
combination

Testosterone — Relaxin

_ combination

Relaxin = — Oxytocin
combination

Progestogen — Estrogen

combination

Choose the correct statement regarding
the GIFT (Gamete Intrafallopian Tube
Transfer) procedure.

(A)

(B)

©

(D)

Ova collected from a female
donor are transferred to the
fallopian tube to facilitate zygote
formation in the recipient.

Zygote is collected from female
donor and transferred to the
fallopian tube of recipient.

Zygote is collected from a female
donor and transferred to the
uterus of recipient.

Ova are collected from a female
donor and are transferred to the
uterus of recipient.

Which of the following characters was
not studied by Mendel in his Pea plant
experiments ? :

(D) (A) Stem height (B) Pod shape
¥SSeoncay Loeye, - Y (C) Seedshape (D) Leaf shape
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23,

24.

28.

20T ooy, 2 TR,

T, S GRoERnE

SUZ O FOsD WR Ao

ﬁdgﬁmﬁo&@t T[oEFRZE. B

Dewo®  TOTWrDYT  FoZwoks

F0DFF0E, BT MOTER.

(A) WoTeebod wIDTRT aégg
(Pleiotropy)

(B) opeer Jwed

(C) waOToTmodk 0TodecddE

(D) w=wEtez

To0W TYD Ve TRHTON 305,
ZPOTD 0T WERES AR, TR, :oﬁimg_’d
BT WeRNTIY, BROOWT [, BpoLT
XCBORROWB. RWT  F xoﬁu’wa’%
Fgeod  JoenABrdevmarmen, F,

=

RoB30h, 64 TR, MUR) TR,

Tpexs OBNYR) J,FIRIT F, "X,

Road, o) 807> B,
(A) 36 (B) 4
(C) 12 (D) 24

A 83 moas ) F3esd, B 080
R0aR  ERYOLRY BT,

26.

27.

28.

29.

2000 [REO B, FLERARTIIOTOR
B.25. . ROTOYOD LB

(A) 200bp (B) 1000 bp

(C) 32x10%bp (D) 6.6 x 10°bp

B %NS RNA ¢ J§ onlwo

T 8TedT sS@dodowon wRRee
SRRV, Brinexineos 8@
BRoRERCI0, IS ?

(A) rRNA (B) dsRNA

(C) tRNA (D) mRNA
cdRER, dedreenvd, 20T
o ant.eve] Xozgpeos saMd

08, oedg s RoFORT RNA og,
ree3dRR0Y , HFET

(A) oRwem,doireenvd O 08Ty
TR FEoDT WIREATIT.
XogedxOw 9308, =0e38ed
Aoz oRoToN Jriche L3TOTS.
Q0R, DD

(B)
(C) =ompmowon
SrioboLstozgss.
Fog) HoTwob OB,
DER R, § 0T RO

oL .

(D)

DNA cjovly QFemmmon <on&as
DNA SRTOcH [RREH ©:3853N03
BRRNTY,, B3 FINS IR 303, Y

/RT MBSO TLEOTRT o, ER W T e
T, 3o TYE rooariso - REC R SN, gy
TEODLO THOWFTMOZT 2
(A) AB@n3,  (B) A,B, AB (A) SSERFPOIT (B) Eo,mm,uRne
(C). A,B (D) A,B, AB, O (C) &.2.80. (D) DNA g ezoon®
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23.

24.

28.

In an Organism, mutation in a single
gene exhibits multiple phenotypic
expressions. idéntify the underlying
genetic mechanism in the above
instance.

(A) Pleiotropy

(B) Incomplete dominance

(C) Polygenic inheritance

(D) Multiple allelism

A pure breeding pea plant with round
yellow seeds was crossed with pea
plant having wrinkled green seeds. On

selfing of F, hybrid of his cross, 64
progenies were obtained in F,

generation. Find out the number of F,

progenies  showing  non-parental
characters.

(A) 36 (B) 4

', 8 N8 (D) 24

A man with blood group A marries a
woman having blood group B. The
maximum possible blood groups among
their progenies are

(A) AB only
(C) A,B

(B) A, B, AB
(D) A, B, AB, O

26.

27.

28.

29.

The length of DNA helix in a typical
nucleosome is

(A) 200 bp (B) 1000 bp
(C) 32x10°bp (D) 6.6 x 10°bp

‘Which of the following types of RNA

carries amino acids towards ribosome
during translation ?

(A) TrRNA
(C) tRNA

(B) dsRNA
(D) mRNA

In eukaryotes, the entire base sequence
of a gene'do not appear in mature RNA
because

(A) transcription in  eukaryotes
consumes more energy.

(B) coding sequences are removed
during processing.

(C) introns are removed during

processing.

(D) some _gene  sequences  are
removed by exonuclease.

Suppose DNA samples collected for
DNA fingerprinting analysis are less
than the required quantity. Which of
the following techniques is helpful to
make the samples sufficient for above
analysis ? )

(A) Electrophoresis
(B) Chromatography .
(€) -PCE

(D) DNA probing

Space For Rough Work
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30.  oRpedotn Eee) BBV 0,80’ T3 34. oY RIT Q0T W LIS T Y
SRGTY, W, T wToRS i’ B QVTORBCIRNT. |
SoBEotd AMEE MRNA uSEsodm) (A) P8 Snen ARG
FOOTHTTRIT. DFOTIT BT (B) =80 doert adm;gg
(A) 20T wxcdeds ToBmod (C) Reyod dnert Admee
(B) 20T DeTF B8 [oBak

: (D) R~ 33cdnegs
(C) womd TR R, #HoBwok
(D3 g CHIRR M 35, domy orodnvRy  owbsomd

31. QRS DNA' 35830088, ot BUCDRRZH, DFoTT
%00 5308, T0rddodRy B0 mRNA (A) enso  JoFy,  wriner
RO, BRI Lelives roTde. REQ0TTONTOZS.
DNA 3'- ATGCATGCATGC - 5' (B) wyrisd =303  eomozriernt
(A) 5'-UACGUACGUACG -3' .
(B) 5'-TACGTACGTACG -3' SR TG Siaebes.
(C) 3'-UACGUACGUACG - 5' (C) ©InY Romsr  eIRII
(D) 5'-GCATGCATGCAT -3' TSRS,

32. Q¢ P ©3o8 DeBEmT  ewd (D) oL IFpeEI .
BRnemT* CIRJYTON ? :
(A) Rpecoozt 36. CINT IOW, eI WrOLdEed, g
(B) oRnemox O G, T FedROIT ?
(€) wmscinemox’ (A) erodngs (B) SoURR
(D) & Foune (C) GABA (D) damsye®

33. wom X, IRTTY,, Toy ©303
STCHNGH T eTINL 3,03 37. RAREACHOS RSB, dders Y
Goz%mhcé@. B TRBE  odnPYde =TS =
——

AR G 2ITR Zeohddy,. (A) Angoh caear,oprs
T LURBTRCQIT w,8 38 woded

Dlenpi (B) maasseoa@ogmm
(A) XHEeeS3  (B) ROF 08T (C)  Rp¥od &0

(C) : ,%pesdw (D) Wes (D) &guMOﬂd gRe3nsL

Space For Rough Work

Biology

12



r—

against

30. When Escherichia coli cells are 34. Injection of an antidote
cultured in a medium where Lactose is snakebite is an examp]e of
absent, the ‘i’ gene of Lac Operon ; 7
continues to produce repressor mRNA, (A) Innate immunity
because it is (B) Active immunity
(A) anon-coding gene. 2o :
(B) ' operior gerle. (C) Passive immunity
- (C) a constitutive gene. (D) Auto immunity
(D) a structural gene.
31. For the given sequence of DNA, 35. Certain tumours are called malignant,
identify the complementary sequence because
of bases on its mRNA from the options (A) They are confined to specific
given below : locations.
DNA 3'- ATGCATGCATGC -5' 3
(A) 5 - UACGUACGUACG - 3' (B) They invade and damage
(B) 5'-TACGTACGTACG - 3' surrounding tissues.
(C) 3'-UACGUACGUACG-5' (C) They show contact inhibition.
PR b i i (D) They are not neoplastic.
32. Which among the following was the
biggest land dinosaur ? 36. The transport of which
(A) Stegosaurus neurotransmitter is interfered by
(B) Tyrannosaurus rex cocaine ?
© Br.achlosaurus (A) Acetylcholine (B) Serotonin
(D) Triceratops
(C) GABA (D) Dopamine
33. In a population of plants, some were
extremely tall and the remaining were : ;
extremely dwarf. No plants of the 37. In the life cycle of plasmodlum,
population showed intermediate height. fertilisation takes place in
The type of operation of natural A Sali lands of it
selection in the above case is VL S Cr
(A) Balancing : (B) RBCs of humans
(B) Directional (C) Stomach of mosquito
(C) Stabilizing :
() -Dikcaptive (D) Liver cells
Space For Raugh Work
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38. e :!o&% draemi; T, 88egE Frodds 42. BpWNE 003 :Jof‘%dﬁ'odae;_,. Q3ecs
Brassica & 9. ﬁom;dr#o&a‘% ©Z0% TIHTOTOTD
(A) TpX ITWTT Tonxend, Kdowd
(B)-= Qi ggera (A) am> devid  2e0R0T I
€) iz Boe0BONTRY Sichen RTOD
(D) T e SnaEd.

39. womos gachd & NI cIns X
SOmOBRRY ee0E %3, ZIEa0WN Lo (B) = ReSTOmMONDE L mTe
W2, ? Weddoddy  devd  QedRY,
(A) SIPr sorwod BRNRPRZE.
(B) =, Oa%=R (C) = ¥ ©don evsEs
(€) A sOog=n RB0D IRBIS.
®) i:aeda‘%ﬁn : (D) amd davhd 203 WodT

40. FANFEN  wTVOY,  BeoOS BRSPS
vord ) Hesn vy TENY Shan W
R VA xwumaq QTOOT TRPRWIBITD
(A) 836 ToersF 43. Dowd BT P WWHAW X
(B) w203 Zosoed SHOEYS o), ReT) werdrIng,
(C) ROOW,T0IE 3¢ YOSFFS STS FRTHD Bt IRELD WY,
(D) evZoTTrae 39 XoITFS Qn DFTT,

41, o HoraFRo IXE uQ ey (A): SRITI BITVRY, Soedecdat
Foornds 63, Aocodd IodB. 3 now.
Jooro  Aeeosd AFO0m  Woch
Ro33cHE %oatao S 5"‘%”"?’% (B) ﬁwddmw uo&ﬁoﬁemrﬁﬁad.
VRWTODT 303, ZRIT MO (C) ¢%on IR Foo,drext
(A) 338 xo8or 3N,
L (D) =nIIT wIHVEY Dgeseeds’
(C) =pecd ToRNRBE ciae * o x
(D) ZREnedoeRs’ g
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38. White rust resistant variety of Brassica 42. In sewage treatment, secondary
is
treatment i considered  highl
(A) Pusa Sadabahar ST oo re i
(B) Pusa Swarnim significant, because
(C) Pusa Shubhra (A) It helps to remove debris from
(D) Pusa Komal
the sewage.
39. Which of the following plant tissues (B) It reduces the BOD level of
cannot be used as explant in tissue
culture ? sewage.
GOSN (C) 1t helps in the production of
(B) Parenchyma
(C) Sclerenchyma biogas.
(D) Collenchyma (D) It increases the organic content
40. The hybridisation between naturally S iewags.
incompatible plants like Potato and
Tomato can be achieved through
(A) Artificial pollination 43. Ruminant animals can digest cellulose
(R’ ROmpauc nywidisation in their food, where as human beings
(C) Conventional breeding 8
(D) Mutation breeding are unable to do so. This is because
(A) Methanogens are present in
41. A chilly plant was severely infected :
with Chilly Mosaic Virus (CMV). human gut.
Identify the technique that helps to g
raise virus free plants in the next (B) Cellulose is a complex sugar.
generation from the above virus
infected plant. (C) Cellulose reduces the bulk of
(A) Artificial hybridisation food.
(B) Meristem culture : :
(C) Self pollination (D) Mcthanogens_ are absent in
(D) Hydroponics human gut.
Space For Rough Work
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44. irabg_’d:a &.2.80°.3 ToINY 47. RNA mqsagafwemq dsRNA 205
Rocdrensdnvg,, 369 SHROY ToI/ NP R, i fevoucin
roTOSA. (A) mRNA o O%,0308
(A)  ©Redon’ = ST R (B) gne3deon0on EnednmE RNA
(B) =dedon’ sz fme, wodess* o moned
(C) BUTBT T STHIT (C) mRNA o3 T, 853
(D) STEIT IR, , (D) wee Fdesor
48. 1%eds OINVY,, TNTTTYS 1R, 300D
45. WCARORF LTI neg, TonR Fooe Reeoss $ToRE T Ars
SoTok JrRF S ZRTTNG. WYBOWOT TG, TONG.
(A) Fooe (B) 63 Begne3 (A) oo e3g%0f(B) DNA 2e830°
(C) wmdeood (D) =X, wedocs (C) &.2.850°. (D)&.83. W &
/ 49. DoOMES W draob&ragw =t
46. T3 I TEQPATOS wndecw Her NS odns ﬁarat:ﬁ\rariw x:sdm:ﬁ
WEITOREY, M T N 2omd ATODTZMOFHRY, ?
FOTSATH RrNdR) TIIRA. (A) odod e oY TTWT
Wells g : ©080THPTO ATHE.
| 7771 SR ' (B)  irish Saoenivan Smemr monaacD.
f il AT (C) ®©03rir3 T3,005,ne ATOIE.
8 (D)  2Ind Begd o dnesiBoesnd
N TR,
o AR ¢ e 50. ToBXF - i@‘s‘ (Verhulst-Pearl) 3
[X]
G TGRS S 88 vSioh TR0ETHTY, T
(B) M—%gdﬁ;a.aa‘.@. W, 0T, 8053 % AU,
N - SS'GR TR 3.2 10, 00° _‘.’lier[K B NJ
(C) M- e&d:a%md 80T, R,00° dt K
N- e.!aaﬂamd 8.7 . W, 0T SR aﬁqw'maﬁ e
(D) M - 838G B8.05 .. tR,0F, (B) myMSYvoecsoend
N — 3BREEE B.07°.0. 10, 05° () Reesme
» S (D) =Boam, o3
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44. From the given combinations of steps
in PCR, identify the enzyme dependent
step/s.

(A) Annealing and extension
(B) Annealing and denaturation
(C) Denaturation and extension
(D) Extension only

45. Biolistics method is suitable for gene
transfer into

(A) Viruses

(B) Animal cells
(C) Bacteria

(D) Plant cells

46. Identify the labels M and N in the
following Agarose gel electrophoresis
representation.

Wellszéﬂ
ey / ;s /7
ek / ,; / 4

b 4

M N

(A) M - Digested DNA bands
N — Undigested DNA bands
(B) M — Hybridised DNA bands
N — Unhybridised DNA bands
(C) M — Largest DNA bands
N — Smallest DNA bands
(D) M — Smallest DNA bands
N — Largest DNA bands

47.

49.

50.

. In RNA interface, the dSRNA molecule

prevents
(A) transcription of mRNA

(B) transport of RNA from nucleus
to cytoplasm

(C) translation of mMRNA
(D) aminoacylation

Now-a-days, the early diagnosis of
bacterial or viral infection in humans is
possible using

(A) Serum analyser

(B) DNA sequencer

(C) PCR

(D) CT Scan

Which of the following features of
plants is not helpful in adapting to
desert life ?

(A) Presence of thick cuticle on the.
' leaf surface ‘

(B) Leaves modified into spines

(C) Presence of sunken stomata

(D) Absence of trichomes on leaf
surface

In the following equation of Verhulst -

L

Pear]l logistic growth the letter ‘r
denotes

_c_l__I\l =rN ( w22 )
dt K
(A) Extrinsic rate of natural increase
(B) Intrinsic rate of natural increase
(C) Carrying capacity

(D) Population density
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51. Wmmoﬁmwﬂm 54. = WNIPYNVY P W - JI
A8 - ML TSPOWRS. B drt 0T 50 IGIINVE, Ao RO, ?
TIAT TRk kot Xowoprss (A) Doy 0% TR,

TOIRLTIRT LOROR D THODIR. -
l___l (B) ewmdwz
[ J (C) m';aakgeoia Spank
l | (D) ety Doe¥ed o6
| | ] |
[ | §5. & NPV, oInPo SE:D‘_FS
(A) wdeemn  (B) axom Bewdodnna 7
©) AS {0 (A) FBOEHT wEdE o
% ToBONG.
(B) maohadsd  Tomosdsy)  womd
52 & WS umd  3OWONY, S ——
TG, TRNLIETes #2008 ‘M’ &) robex.
(C) onedn, 833 Q0T AkNEDS
mﬁ — g0 — M AT m =3 5(3% ﬁd@?ddﬁ#g 2,000 @ﬁﬁ
QT TRITNG.
(A) oo (B) Enee :
(D) ITITE, mw:;.,m Wdnes®
g {2 Spsishone T, E4MOT TIRETBZNG.

53, 2000 WO TTeISR), 88,000 ToXT 56. oOST W% 9, CAPUONE STeBT03,

'ﬁmgmmm 9, ToXO 23@@”@3% R0z BBVl oDIMERD oI
=%

M S | BROOBEOES SYRAREAY-LeTarYcs ?
(A) SR Iy (A) 1 & 02,2020
(B) woosex =y (B) 1 mea2021
©) TRReCD e (C) 1 e =0 2021
(D) sd‘z_;,a%rs TP (D) 10 Je a%owof2020
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51. The shape of the pyramids reflects the 54. Which one of the following is not
growth status of the population. included under in-situ conservation ?
Identify the type of age pyramid (A) National Park
represented  below  for  human
population. (B) “Senctuary

: ,——-[ (C) Botanical Garden
[ | (D) Biosphere Reserve
| | ]J 55. Which one of the following is a wrong
= | statement ?
(A) Ascending (B) Expanding (A) Mos't of the forests havg been
lost in tropical areas.
(C) Stable (D) Declining i
(B) Green house effect is a natural
phenomenon.

52. ldentify the pOSSiblE link ‘M’ in the (C) Eutrophication i a natural
following food chain : phenomenon in fresh water lakes.
Plant — Insect — — Snake — Eagle (D) Ozone' in upper part of the

atmosphere is harmful to
(A) Rabbit (B) Wolf animals.
(C) Frog (D) Ichthyophis
56. According to Supreme Court of India,
5o T ) i b ruling with respect to ‘Bharat Stage
1 < or'ga'n'lsms o %nva e -are VI’ Norms, from which date, these are
area to initiate an ecological succession : .
supposed to be implemented in the
are known as
country ?
(A) Key stone species (A) 1% April, 2020
(B) Climatic species (B) 1% June, 2021
(C) Endemic species (C) 1* January, 2021
(D) Pioneer species (D) 10" December, 2020
Space For Rough Work
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57.

58.

- (©

Ted-1 CQUOT dOeom e TriFTivy ekl
| BOIR umETERdecdR BRoOX.
B0 Te-11
(1) FeeRpex®  (p) TIRO0DIF
(2) CRRERAWT  (q) “YFerOoD
(3) vrecliefpuxt (r) wwrte
(4) D ECRRALT (s) TeAcD
ROCINT BRowoeIFodT wod) Tna :
(A) (1) g (p)a (2) e (S)., (3) i (l'), (4) 5 (Q)
B) 1-@,2)-@E,G)-6),#-0
(1)), (2)- (@) B)-(q, (4)-(s)
D@ (M-@,@)-@).3)-6),@-@
B3 SONS SNerBore TOV TFODR MR
Tore IV, Reads  wsondeonr
L] i

(=)

59. 2 PHRICHA, ERUTOS BRIF rt T’

R, OB

(A)
(B)
©)
(D)

QYT (Sepal)
apjaL =¥ (Petal)

T =8,13¢ (Tepal)
PYw s (Perianth)

| 60. mIT Sedodg , W), DT, PFOID
|i] 3, Ieewn Ty I woxmV
st g RRAYR), AT, ©ZeDrSowos,
PRIAR 3 Cl - %)
4 g0 YT TN TR, wIR0DTN .
5_['5 A58 30nTE, ST 0D
b A s (A) YR oUnv wHee B Kosd,ob
(A) p-oMmE, q- MIRIRTRE, TeoF DO, NOTHS.
— d _—
L B8 WRSRH B) DOS oCnvQ  FWAIQH
(B) p-mEARTRY, q - SRS, QoeRReYS BTIT.
r- hngpea,; s - %?&‘
. (C) YR v WO
= = -
© p- it q R SReBrons3s.
r- ngsmﬂ@dmu, s - AMRI
D) p-oms, q- mIELRRE, (D) diﬁoﬁ s W
- T, 0e, s - %ﬁ WRTFROWOTIN
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s7.

58.

Match the following classes of Fungi

(Column-I) with the examples
(Column-II).
Column-I Column-II

(1) Phycomycetes (p) Penicillium
(2) Ascomycetes (q) Alternaria
(3) Basidiomycetes (r) Albugo
(4) Deuteromycetes (s) Puccinia
Choose the correct option :

A) (M-@).2)-06)03)-1,4@-@
(B) (1)-(9,2)-(),(3)-(s),(4)-(r)
© M-@2)-/),3)-(,4-(s)
D) M)-@,2)-).B)-(),@D-(@

Observe the following simplified
scheme and choose the correct option
that matches with the letters given in

the boxes.
Vertebrata
(Division)

525 L

(Lacks Jaw)

(Bcars Jaw)

Super[ Class

)

(Bear fins) (Bear limbs)
(A) p- Agnatha, q - Gnathostomata, -
- r- Pisces, s - Tetrapoda
(B) p - Gnathostomata, q - Agnatha,
r - Tetrapoda, s - Pisces
(C) p - Tetrapoda, q - Pisces,
r - Gnathostomata, s - Agnatha
(D) p - Agnatha, q - Gnathostomata,
r - Tetrapoda, s - Pisces

89.

60.

Identify the floral unit ‘I’ in the given

floral diagram.

(A) Sepal
(B) Petal
(C) Tepal
(D) Perianth

A student observes grass and Hibiscus
plants in his garden during noon. To
his surprise, only the leaves of grass
were found rolled inwards. The reason

could be ’

(A) presence of more numper of
stomata on the grass leaves.

(B) undifferentiated mesophyll in
grass leaves.

(C) presence of Bulliform cells in the

grass leaves.

(D) due to higher rate of transpiration.
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